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Note:- You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
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question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,
otherwise the student will beresponsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1
(x+7and | (x-Pand | (x+Dand | (x-7)and -‘_z_!)/‘—gdu.{ué x'-15x+56 | .1
(x+8) (x-8) (x-8) (x+8) Two linear factors of X° — 15X + 56 are
_ A _ % % 7 e+ Biunmlaxttsx-2=0eble Ba i | 2
3 If @, B are the roots of 3x *+5x -2=0 , then & + f3 is
w, o 1,—w 1, o d roots of unity are -wé/ldgu[.(jﬁ 3
by il wdy -+c2u;7na:b=x:y/ﬁ 4
o, et B = o
e & y = x: Y, Then invertendo property is:
ur?=1 | uw?=k If u < V2, then Jucvii| s
b - . x+2
A Bx 4x+B € A Bx+C A B ~LﬂdﬂJfJ____//L5’1J (x+1)(x%2+2) &
131 xrrz | *r1Txez | xel x42 PEENETRY ; ; +2
Partial fractions of —————— are of the form
(x+1)(x%+2)
e it Ll O et o WIS | 7
Super set Singletonset | Empty set Subset A set with no element is called
) . . . e I SmEL AxB J2 B Sk A /i | g
2 2 2 2 [fnumber of elements in set A is 3 and in set B is 2,
Then number of binary relations in AXB is
od 2z | Fesk % e triiied S bl | 9
Value Rate Scale Place Mean is affected by change in
V-2l RPN o ot By 9H¢ b S e KA1 | 10
. s : £
Constant Product Sum Histogram 3‘ ed s/v;:iggalgg;ﬁ:ed as a difference of any valuc of
1+tan?0 | 1 —tan?6 | 1+ cos?8 | 1 — sin®6 sec’f = 11
b bl y (51 _c‘-wf Ul;é.l.l-:rf/a_,bju/&c_/’l) 412
; ; . i i int of the circle to th
Circumference Tara—— Diameter Slzggql:it i,égfreS?sggclelnet C_llommg any point of the circle to the
tangent¥e-f> | secant¥z/1s cosing Fe—7l sine K7 -ujim./}j' ﬁvg.}/ilfig,_/’b ¥ L] 13
t t of .
an%::]: | secantofa cosx.nelofa sine of a A line which has only one point in common with a
circle cuele circle circle is called.
et S s L e a0° ST 80T L | 14
o 0 0
60 40 20° 80 An arc subtends a central angle 0f40° then the
corresponding chord will subtend a central angle of
sty S EL il S | 15
2 5 4 3 How many common tangents can be drawn for two
touching cirlces?
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Part I

Answer briefly any Six parts from the followings.
Define exponential equation.

+4 2
Write in the standard form —— — _x___ +4=0

x—2

Solve by factorization 4 — 32X = 17x?
Find the discriminant. 6x2 —8x +3 =0
Evaluate (1-3@— 3w*)°
Write the quadratic equation having roots. 4,9
Define inverse variation.

ax -blz— anda=3whenb=4,find a whenb=38
Find fourth proportional
P+, p*—q*, PP -pa+4q’
Answer bricfly any Six parts from the followings.

Define Rational Fraction.

1 g :
Resolve —— into partial fraction.
x4-1

Find a and b if (3-2a,b-1) = (a-7,2b+5)

U-;,{,u.:{)// (281 UIVU;Q/ S(,

6x2=12

6x2=12

1fL={ab.c} and M={de.f,g} then find two binary relation in

LxM.
Define into function.
IfA={2,3,5,7} B={3,58} then find AUB

Define cumulative frequency.

On'S’ term test in mathematics a student has made marks of

82,93,86,92,and 79 Find the median.
Find the Range for the following weights of students

110, 109, 84, 89,77, 104,74,97,49,59, 103,62
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110, 109, 84, 89,77,104,74,97,49, 59, 103, 62
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Answer briefly any Six parts from the followings.  6x2=12 .g_‘/ 4 /’ _-.«Qli./‘? é:lZl%’c_JJ( e Ltits Aﬁ}Jlr
Define radian measure of an angle? ?Q/Q.y/jul’qé/u(:;u i
Convert 30° to radian? S SgA0°
Find @, when £ =2cmandr=3.5cm ?J_/{'}"G}"yz r=3.5cm ! €=2cm_f>. J1ii
Simplify exl;ression to a single trigonometric function -&’f@'d’@&yf.{l L//‘yl(g v
sin?x cot®x sin*x cot?x
Define zero dimension? "u.“’gs.y/?d/bf‘d/‘ v
Define tangent to a circle? YQIQ/JJVLQ/’IJ vi
Define arc of circle? ?g{/uéJ}U.JJ;JL;’} vii
Define Perimeter? fe ¥ ) /‘7 d/ bl viii
Divide an arc into two equal parts. -b[/gufuf’/,!/,»/u;’;{lgféwgff Ax

Part II (2 -~
Note: Attempt any Three Questions.Q.9 is compulsory. ( 8x3=24) c;_dJIJQ/ g/ f ezl vl dfied
5.a. Solve by Completing Square x*~2x—195 =0 Al S P-2x-19520 enle a8
b. Prove that ~2f_)_:c.r,t"' b
x—y® = (x = y)(x - wy)(x - w?y) x*—yd = (x - y)(x - wy)(x — w?y)

6.a. Find the values of Z;;:; + ji;: ifs = -s% s= %{q- A ';__ZZ + %-&‘{(}h’c«g .a.6
b. Resolve into partial fraction _——(xj;z;z) —————-(x_g:;zi_z) oL J.’.b: S 67 b
7.a. IfU={1234,56,7809,10} A={13,579} B={2,3,5,7} B={23,57} A={1,3,579} U={1,23,4,56,789,10} /1 a7
then verify (AUB) = A'nB’ (AUuB)Y =A'nB’ é:/.l:";

b. Calculate varience for the data 10,8,9,7,5,12,8,6,8,2 -q’fﬂ"’cf_/?c; 1089,7,5,12,8,6,82 s b
8.2.  Prove that \/Eﬁ = si;izl % = %l fz;:ft' a8
b. Inscribe a circle in an equilateral Triangle ABC with each étrJJé}/;LJl,é’g,lzu’luﬂ"KABC S ey b
side of length S5cm. S
9. Prove that a straight line, drawn from the centre of a circle mse /. .x:,‘;u( (n;ﬁﬁ)};u’( e /L:./"J,f ’c‘fcxl:‘ 9
to bisect a chord (which is not a diameter) is perpendicular R LV R

to the chord. RENY ¢ ) S el

Prove that any two angles in the same segment of a circle -ujLn/,!/,fTL‘u:’;gl: ufo/’fzagd.—glﬁé.ﬂ}fé:ab"

are equal. A
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Notei~ You have four choices for each objective type question as A, B,C and D. The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
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dent will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed

otherwise the stu
(D) (C) (B) (A) QUESTIONS Q-1
. i 15 2 R R .2 SATIwL 2, LB L s | 4
Perpendicular parallel Non~ Collinear | Tangents drawn at the ends of diameter of a circle are
to each other.
df/l)l:&.‘__c.—hgmf U*ugyJuf;//,1}5u:4_;1,_{t 2
75° 60° Kn___ o
The length of a chord and the radial segment of a circle are
congruent, the central angle made by the chord will be
‘wébL&JVJ}&/KLUU'bLﬂL/u/n 3
3 5 4 2 : ;
How many common Tangents can be drawn for two
touching circles?
_bEAb +hac VB +ac x_-bi«/bz+4ac xzbix/bz—4ac _—bi\‘bz—4ac —C‘—UFJGJ-JJD 4
2a 2 2a 2
The quadratic formula is
-1, -w,-w?| -1,~0,0? | -1, 0, -’ 1,—w,—w? | Cube roots of -1 are -u}-,«’ﬂbi_of,‘-l' .5
et AP KB s20 Tl -x-1=0 Bl | 6
-4 4 -2 2 If 0,3 are the roots of x*-x~1=0, then product of the
roots 2¢ and 23 is
1 k 2,1 502 o L
2 — Iy3 2 _ .2 2 _ X = —/I
y = kx y =N y _x__?T y2 -_.;_3_ If y x3,then iy (xxsf N
w’=1 w’=k u=kv’ u=v’ [fuccy’ ,then Ju v fs .8
5 o x-2
Ax+B C i+Bx+C Ax + B A + B *U..Ydﬁ(;f’ //d’zd/z;c__l)(;:z_) 9
-1 x+2 |x-1 x4+2 | x=1 x+2 {x-1 x+2 .y
Partial fractions of —————= are of the form
(x-1)(x+2)
e e Ll erdi -qwﬂnd@u{'w SSe | 10
Subset Sigletonset | Powerset Null set The set having only one element is called.
I v 11 11 Point (-1 4) lies in the quadrant. < Lo f0A-1,8)4 | .11
i Lol P = tr A fe ke £ X2 | 1
Sum of the deviations of the variable X from its mean
Different Same Zero One is always.
P | i | ot | B | 0N esdlunBo e O s
A Deviation is defined as a difference of any value of
Constant Product Sum Histogram | the variable froma
2 2 2 L . I 14
cos@ sec“0 2secf 2cos“6 T e
/” CJ’L?JQ' ‘ e J"./ _g‘:_t'szJ:UbLJ}fc;)(/L‘.jb 15
Diameter Secant Circumference Radius A chord passing through the centre of a circle is called
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Part I

Answer briefly ang-/ Six parts from the followings.

Define reciprocal Equation.

Solve V3x+ 18 =

Write the names of the methods use to solve Quadratic Equation.

Prove that the Sum ofall Cube roots of unity is zero.

Without solving, find the Sum and product of the roots of the
quadratic equation x*-5x+3=0

Find the discriminant of the Quadratic E:quation 4x*-Tx-2=0
Find a third proportional of 28 and 4

If V oc R and V=5 when R=3 Find R when V=625

Define direct variation.

Answer briefly any Six parts from the followings.

Define improper fraction.

xX%4+2x+1

Convert into proper fraction m

Define an onto-function

IfA={1,234,5} B={2,4,5,6,8} then find A-B and B-A
¥fX={ 1,3,5,7,...19},Y={0,2,4,6,8, ... 20} and
2={2,3,5,7,11,13,17,19,23} then find X N (Y U Z)
IfA={123} , B={2,5} thenprove that Ax B# Bx A
Name two measures of central tendency.

Define Mode.

Find the modal size of the shoe for the data

4,4,5,5,6,6,6,7,7.5,7.5,8,8,8,6,5,6.5,7

6x2=12

6x2=12

J:l >
.J/:’ /’ u“i/‘; L1z fic.éf c.ufd:(/u .Z/JI:’
u“i o J esbe § s i

V3x+18=x _y/f i

HALURPEE SIS G i

e b AN MU L St v

St P AL S S i
x’-5x+3=0

-2;()"’0;&{0/;(4362—7)6-2:0 ehbeBns v

“EEek A8 ,4 i
#V=625 LR InR=3 V=S Vo RS i
FE e i
L f ez Limge $Setdin 34U
SISy NP
,u/f Sl i
SV AN &1 BT

A-BusIB-A S+ TA={1234,5) B={24568} /1 v

x +Zx+1
(x—2)(x+3)

X={13,57,...19} , Y=(02468,..20}/1 v
XN (Y UZ). /S r#52={2357,11,13,17,1923)
AxB# Bx Ay /=tia=(123} , B={2,5} /1 i
_u.‘."v AL UtenlyensS , i
S viii
-Q/r}’”o}lpK;rfg/l-%p/ erlzUizsly  ix

4,4,5,5,6,6,6,7,7.5,7.5,8,8,8,6,5,6.5,7
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Sa.  Solve the equation x*-13x’+36=0
b. Findp,ifthe sum of the square of the roots of the equation
4x’+ 3px+p2=0 is unity.
x+5°-(x-3) 13
€a Solve ( )1 ( )3 =—
(x+5) +(x-3)° 14
) : . Tx-25
b. Resolve into partial fractions ——————
(x=4)(x-3)
78 IfU={123,.20} X={1,379,15,1 8,20} Y={1,3,5,.,17}
thenshowthat Y — X =Y n X’
b. Calculate variance for the data 10,8,9,7,5,12,8,6,8,2
[secO+1  secO+1
8.a. Verify the identity. =
secd—-1  tand
b. Inscribe a circle in a equilateral AABC with each side of
length 5 cm.
9. Prove that perpendicular from the c2ntre of a circle on achord .

—~ @~
6x2=12

Answer briefly any Six parts from the followings.
Findr,when £ = 52cm , 6 = 45°

Convert 225° into radian.
)

n 8+cos€=sec9
*cos@

Verify that

How many minutes are in two right angles.

Define obtuse angle.

Define Tangent to a circle.

Define segment of a circle.

The length of each side ofa regular octagon is 3cm.
Measure its perimeter.

Define regular polygon.
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Note: Attempt any Three Questions. Q.9 is compulsory. ( 8x3=24) ‘,'..dJUQ/Jb’-‘_[/ j ezl eyl G—J!( RO

w~eee ORe

Prove that the measure of a central angle of a minor arc of a

bisects it.

circle, is double that of the angle subtends by the

corresponding major arc.

x'-135%436=0 -/ S F S mtsl -
Lax*+3px+p’=0 OBV o
-n/,lf,é\—g;!f(uﬂ/L(Roots)Lf‘U
(x+5) —(x-3) 13

(x+5)3+(x—3)3—1_4'£w
Tx-25 7

22V 4 ../:/ 37

T EW LS

X={13,79,15,1820} U={123,.20} /]
Y-X=YnX &=t7 ¥={135,..17}

10.89,75,128682 &£ . iy
secd +1

[M = el d
secd —1 tan &
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